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Oxford Discover Level 3, Module 3, Wrap Up

Read the questions and the answers. Circle the correct answer.

1 What was the robin doing when you saw ite
a. It was leaping.
b. It was hopping.
c. It was riding.

2 How many lines does a cinquain poem have?
a. It has three lines.
b. It has ten lines.
c. It has five lines.

3 What was the grasshopper doing in the thickete
a. The grasshopper were jumping.
b. The grasshopper was jumping.
c. The grasshoppers were jumping.

4 What was the girl doing yesterday?
a. She was writing a poem.
b. She were writing a poem.
c. She was write a poem.

5 What are you doing when you make a picture in your mind?
a. You are observing.
b. You are describing.
c. You are imagining.

6 What are the rules for an acrostic poem?
a. It has to have rhyming words.
b. It has to use all the letters of the topic word.
c. It has to be written vertically.
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